Math 2415 Set 2

Arc Length
1. Find the arc length of f(t) = <In(t3),\/€t,%t2> on 1<t<10.

Limits
Find each limit, if it exists, or show that it doesn’t exist.
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Partial Derivatives

For problems 5 — 7 find all the first derivatives.
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7. f(u,v,8,t)=u? In(s.2 —8t4)+tan(4u)
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8. Use implicit differentiation to find — and — for the following function.
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y’z* +tan(1-x)=3z°+1

Higher Order Deriviatves

For problems 9 and 10 find all four second derivatives.
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10. h(s,t)=cos(t’s )+t_2
For problems 11 and 12 find the indicated derivatives.

1. f(s,t)=t VI 25 +(t°+t* 2 1) find f
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